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Thg B 4710 e 2% YA A7) LR Alolet. Azt
S vk tehl g 1ol A B 129
Zie sin cos tan
10° 0.1736 0.9848 0.17638
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1.1918
70° 0.9397 0,3420 2.7475
89° 0,9998 0,0175 57.2900
=
27]
(D sin20° = 0.9848 © cos45° =0.7071
© tanb0° = 0.6428 ® 2sin10° = 0.3420
1
@ 500570":0.8192 ® 3tan45°=3
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A, B oA &8tt 2 247t 22} 500, 55° A W, ths AZHH| BE
o|-gsto] &= 24 A, B Ate]o] AT=?

2t sin | cos | tan
35 0.5736 0.8192 0.7002
40 0.6428 0.7660 0.8391
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